Date

G Quick Check — Form A
o Readiness Standard 1 - A.REL.6
Name Keq
J

Learning Target: | will solve systems of equations.

Directions: Find the solution to each system of equations. (Work time: 5 minutes)

x-coordinate of the solution; 5

1. y=-%x+4 and y=-3x-6 |2 y=3x ad y=T7x+20
y
o A ) 3x =77x+20
\ 8 - )x —Ix
: ~-4x = 20
\ 2 -y .—t._l
10 -4 \2 4 0\ X:._S
&\
e\ 353(—5)
VN o
g = 15
Solution:(l,_(a) Solution:(i, -15)
3. 4x+y=22 ad 2x -y =28 4. x -3y =-11 ad -x+ Ty =31
waj =22 X =3y =l
— Yy =20
bx = 3° T
<~ T ‘7
=5
X=5 5

y-coordinate of the solution: 5




N Quick Check — Form B
Readiness Standard 1 - A.REI.6
Name Kt_\ﬁ

Date

Learning Target: | will solve systems of equations.

Directions: Find the solution to each system of equations. (Work time: 5 minutes)

3 1
1. y=5x+6 and y=zx—4
y
3
Ky,
o/
/4
A o
< 10 -8 - b S 4 5 3 10’ix
// //
// A
« )
/ 8
/ 10
¥ v

Solution: ( -3 , 'G )

2. y = -4x
—Yx= gx+2Y
—3Xx =X
—zx =29
iz -2

¥ =—2

and y = 8 + 24

= -4(2)

372

Solution:(’l , 8 )

3. Tx+y=45

Tx+y =4S
——Sx:j :_"cl‘
Yx =29

Uy

Y
X=06

GBx —y = -21

and

x-coordinate of the solution: (o

and -x + 2y =95

4. x -3y =15
X—gj:/S
=X 'f‘Jj =5

__j :-:?—(-)
-

l

= -0
J

y-coordinate of the solution: A,




ATH

Quick Check — Form C

Readiness Standard 1 - A.REI.6

Date

Name K%u
-

Learning Target: | will solve systems of equations.

Directions: Find the solution to each system of equations. (Work time: 5 minutes)

1. y=--x+8 and y=-;:x—2
y
Ko
LN
2
4‘210;53\4& of 2 4\:\ T
W_\\
[—
- ~
; \
) X
K

Solution: ( 3 R -4 )

2. y=4x ad y=6x — 12
L—'X = b><~12.
—bx X
-7 x = ‘_"_‘__%
- -2

X=0

=4(6)
éj:lq

Solution: ( L , 24 )

and 3x —y =2

3. Sx+y=14

Sx+y =19
3x-4y=ZL
gx =16
3

X = 2

=
-

x-coordinate of the solution: 2

4. -x —4y =-22 and x + 6y =32
—7<-qulﬁﬂl
X+ by =32
2y =10
e B~

y-coordinate of the solution: 5




ELT.
MATH

Quick Check — Form D

Readiness Standard 1 - A.REL.6

Name KW

Date

U

Learning Target: | will solve systems of equations.

Directions: Find the solution to each system of equations. (Work time: 5 minutes)

1. y=--}x+2

and y=-%x—8

2.

y=-3x and y = 5x+ 24
—3x = Sx+24
—5y% TX .
—3x =Y

- )

X = =3

4 = ~-3(-3)
y=1

Solution: ( —3 , q )

y
y 3
10
K\ 8
\ :
A A
~l
N\ T
:103-5\4 o] 2 4 s\<§’x
\%l\
«.o+ \,
Solution: ( -3 , 4 )
3. 3x+y=-10 and -5x —y =18
IX+Y =710
-Sx-y =18
~ax = 8
et -
— — 22
X ="4
x-coordinate of the solution: ~ ul

4.

x + 3y =2
~—><+35 =2

X 4'5J 222

8y =29

5 T
y=3

and x + S5y =22

y-coordinate of the solution: 3




MATH
Name K.w\

Quick Check — Form A

Readiness Standard 2 - A.SSE.3a

Date

J

Learning Target: | will factor quadratic expressions to reveal the zeros of a function.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

1. The area model below represents the
expression x2 + 7x + 10.
What are the factors of the expression?

X4
X+
X+
X+
X+

+x +1Q+1f+1f+1]+1

+x +1f+1f+1+1]+1

(x+5) and (x#2)

Factors:

2. Factor the expression.

x4+ 2x - 15
2 -\ 1S
2t t =
+ |+ + |+
Zxxxxx‘
IV -’T'ﬂ ~ 223 7
= J == -t
S el
—X_'—(—'l"‘ -\

Factors: (X—}S! and _(X~=3)

3. Find the zeros of the function.

fix) = x>+ 2x — 15
D= (x+5) (X-?Q

O =X+5 O=x-3
—c —S +3 +3
I

-5 =X 3= X

(—5,03 ( 3 O)

Zeros: {'5; 0) and (3) O)

4. Find the zeros of the function.

fix) =x*+7x + 10
(x+5) ( x+2)

O =

—S ) -2 -2

-5 = X -2 =X
("Z)O)

-s, 0)

Zeros:_tsg_c’)_ and (2,0




Quick Check — Form B

Readiness Standard 2 - A.SSE.3a

Name KM, Date
Jd
Learning Target: | will factor quadratic expressions to reveal the zeros of a function.
Directions: Circle the answer(s) to each question. (Work time: 4 minutes)
1. The area model below represents the 2. Factor the expression.
ion x*+ 8x+ 12.
expressi 12 | 2+ 4x — 12
What are the factors of the expression?
\ 12 (4 3y
-1z ~t b -4 -3
=Y

+

»h
X+
X4
X+
X+
X+

+x +1+1+1+1]+1

+x +1f+1f+1f+1]+1

+x +1f+1f+1f+1]+1

Factors: (X"'?)B and (.X"'q\

(x+ &) (x=2)

Factors: M and l)‘_‘Z)_

3. Find the zeros of the function.

fx) =22 + 4x - 12

0= (x+ @) (x-2)

O= X+6 O = X-21
— -6 +2 t2
—L= X 2 =X

(—(OJOB (2,0)

Zeros: (""’) 0\ and (ZJ D\)

4. Find the zeros of the function.
fix) = x* + 10x + 16
o = (x+ %) (x+2)

D= X+§ O= K+2Z
— -%¥ -2 —2
=X -2 =X

('2)05

Zeros: !"%,D) and ('ZJO)




Quick Check — Form C

Readiness Standard 2 - A.SSE.3a

Name Kiu Date
Learning Target: | will factor quadratic expressions to reveal the zeros of a function.
Directions: Circle the answer(s) to each question. (Work time: 4 minutes)
1. The area model below represents the 2. Factor the expression.
. 2
expression x° + 6x + 5.
P x> —2x — 15

What are the factors of the expression?

+x?

X+
X+
X+
X+
X+

+x +1f+1+1f+1]+1

Factors: (Y'f—‘) and (K+ SL

( X+,3>

Factors: Lx"5> and

3. Find the zeros of the function.

fix) = x* = 2x — 15

0 = (x-5) (x+3)
0= X—5 O=X+3
+S +S —3 3
5 =X —3=X
(503 (’3)03

Zeros: (S) O> and (’3) 03

4. Find the zeros of the function.

fix) = x* + 8x + 12
= (x+6) (x—f—&)

0= x+(
—5 -6

L =X

(-6 ©)

O = X4l
-

Zeros: 61 0 ‘ l 1_)_




GEn Quick Check — Form D
o Readiness Standard 2 - A.SSE.3a

Name Ku/(\,/ Date

Learning Target: | will factor quadratic expressions to reveal the zeros of a function.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

1. The area model below represents the 2. Factor the expression.

. 2
expression x°+ 5x + 6.
P X2 — 4x — 12
What are the factors of the expression?

+

.
X+
X+
X4

+x +1]+1f+1

+x +1f+1f+1

Factors: (X+ 3) and (X-l—z\ Factors: _@_ (i)_ and Q<+Z_)

3. Find the zeros of the function. 4. Find the zeros of the function.
fix) = x* — 4x — 12 fix) = x> + 9x + 18
= (X+6)(x+3
0 = (x—6) (x+2) 0= (x+e)(x+3)
— - I
o= %X-b 0= X+2 o,x—i_—(‘: © X;
o F6 2 2 e =
= Y -2 =X —G =X "'"3 =X

%)
((o) o) (2,9 (6,0) (-3,0)

Zeros: (GJD) and (’2-)0\ Zeros: 4 'Q!M and ‘—3!0!




@ﬁ Quick Check — Form A

Readiness Standard 3 —F.IF.2

Name KOa/ Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of fx). f{f)

1. f0)= —0b ~

2. f2)=_b

- N W b D N0

¥ 3
¥
=

O O

3, )=—"b |

I

@ N O

N

A

A 4

4. For the function g(x) =x+5, 5. For the function A(x) =x?-6,
find the value of g(-3). find the value of Ah(-4).

%('3) = T3S n(-4) = (-4)*6
%(’35 =2 - b -6

— |10

Answer: 2" Answer: ’ O




@\}ﬁ Quick Check — Form B

- Readiness Standard 3 - F.IF.2

Name bu;j/ Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f{x). 4 f(x)
1. f0) = 2 j
A\
[\
[, \
2. )= "/, /-
* 43-.[-0 5 s>
2]
\/T 1]
3. f4) =L YT
1" ]
4. For the function g(x)=x—6, 5. For the function A(x) =x2+7,
find the value of g(4). find the value of A(-5).

9.(1)= -G h(-9)= ()T
- -2 = 25+
= 32

Answer: -—Z Answer: 32




ELT. Quick Check — Form C

Readiness Standard 3 — F.IF.2

Name \Le«g, Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f(x). f(x)
A 4
1. fl0)=" !
\ L
/ .
2. f3) = D [ -
G - \\ = > x
\ .
3. fl) = 3 ‘
\e
\ |/
\T/
r v
4. For the function g(x)=x+7, 5. For the function A(x) =x?>—8,
find the value of g(-2). find the value of A(-6).

q.(-2)= -2+7 W(-6) = (-6)*-3
=5 =3L-3
= 2%

Answer: 5 Answer: _Z._‘_X_




@fﬁs Quick Check — Form D

H
Readiness Standard 3 - F.IF.2

Name Kuax Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f{x).

4y

1. f0)= —I \
T
2
il
< l T L > x
2. A=Y ’ : ; 4
[
I,
3. f-2)= I\ 7
1
[
k! ,
4. For the function g(x)=x-38, 5. For the function A(x)=x2+9,
find the value of g(5). find the value of A(-7).

9(5)=5 8 W(-1)= (D9
= -3 = Y9+9
= S%

Answer: .;S Answer: 53




@}\ﬁ Quick Check — Form A

POGIAR

Readiness Standard 4 - F.LE.1

Name Koy

0

Date

Learning Target: | will determine if a function is linear or non-linear. (Work time: 4 minutes)

1. Given the function provided in the table, circle the
answer choice that makes the statement true.

“The function represented in the table is

X 0 2 3 a5
/9| 1 s |7 o
» (\’\\\S?;\
X =4
ek ool

o linear because the values of x and fi{x) always change at a constant rate

e linear because the values of x and f{x) do not always change at a constant rate

“The function represented in the table is

@ linear because the values of x and g(x) always change at a constant rate
¢ linear because the values of x and g(x) do not always change at a constant rate
e non-linear because the values of x and g(x) always change at a constant rate

e non-linear because the values of x and f(x) always change at a constant rate ‘(;b() =19
@ non-linear because the values of x and f(x) do not always change at a constant rate
2. Given the function provided in the table, circle the
answer choice that makes the statement true. 28 -1 1 2 4
g(x)| 6 0 -3 -9
X=3

14

e non-linear because the values of x and g(x) do not always change at a constant rate

3. Circle all of the linear functions.

fo)=x3+4 hx) =3 +4

4. Circle all of the non-linear functions.

a() =2x+7 1) = x




ELT. Quick Check - Form B

Readiness Standard 4 — F.LE.1

Name \Cua/ Date

Learning Target: | will determine if a function is linear or non-linear. (Work time: 4 minutes)

1. Given the function of f(x) provided in the table, circle the

answer choice that makes the statement true. X 0 1 2 3 5

| 8 | 6| 4| 2]o0

=
) \j
.

“The function represented in the table is

e linear because the values of x and f{x) do not always change at a constant rate
e linear because the values of x and f(x) always change at a constant rate

@ non-linear because the values of x and f(x) do not always change at a constant rate
¢ non-linear because the values of x and f{x) always change at a constant rate

2. Given the function of f(x) provided in the table, circle the

answer choice that makes the statement true. X -1 0 1 2 4

fx | 2 4 6

“The function represented in the table is .

@ non-linear because the values of x and g(x) do not always change at a constant rate
e non-linear because the values of x and g(x) always change at a constant rate
e linear because the values of x and g(x) do not always change at a constant rate
¢ linear because the values of x and g(x) always change at a constant rate

3. Circle all of the linear functions.

@ gi)= x*+5 k(x) =4 +5

4. Circle all of the non-linear functions.

@ g) = 2x+3 @ ) = x




JELTA Quick Check — Form C
S Readiness Standard 4 — F.LE.1

Name K!wa)/ Date

Learning Target: | will determine if a function is linear or non-linear. (Work time: 4 minutes)

1. Given the function of f(x) provided in the table, circle the

answer choice that makes the statement true. X 0 1 2 3 5

fx) | -4 0 4

“The function represented in the table is .

e linear because the values of x and f{x) do not always change at a constant rate
@ linear because the values of x and f(x) always change at a constant rate
e non-linear because the values of x and f{x) always change at a constant rate
¢ non-linear because the values of x and f{x) do not always change at a constant rate

2. Given the function of f{x) provided in the table, circle the

answer choice that makes the statement true. X -2 -1 Y 1 4

f| 4| o | 4| 8 |20

X X
“The function re tedi i " g J
presented in the table is .
¢ non-linear because the values of x and g(x) do not always change at a constant rate
e non-linear because the values of x and g(x) always change at a constant rate
e linear because the values of x and g(x) do not always change at a constant rate
@ linear because the values of x and g(x) always change at a constant rate

b
g

3. Circle all of the linear functions.

f) = +4 k) =344

4. Circle all of the non-linear functions.




@% Quick Check - Form D

Readiness Standard 4 — F.LE.1

Name KU?,/ Date

Learning Target: | will determine if a function is linear or non-linear. (Work time: 4 minutes)

¢ non-linear because the values of x and g(x) always change at a constant rate

e non-linear because the values of x and g(x) do not always change at a constant rate
@ linear because the values of x and g(x) always change at a constant rate

e linear because the values of x and g(x) do not always change at a constant rate

1. Given the function of f(x) provided in the table, circle the
answer choice that makes the statement true. 28 -1 0 1 2 4
f | 5| -3|-1|1]3
x=3
. . . =3 VO
“The function represented in the table is ! J
e non-linear because the values of x and f{x) always change at a constant rate
(*) non-linear because the values of x and f{x) do not always change at a constant rate
e linear because the values of x and f{x) always change at a constant rate
e linear because the values of x and f{x) do not always change at a constant rate
2. Given the function of f(x) provided in the table, circle the
answer choice that makes the statement true. o5 0 1 2 3 5
fx) | 5 3 1 -1 -5
il
“The function represented in the table is J J=

3. Circle all of the linear functions.

fx) = +5 h(x) =x* +5 @

4. Circle all of the non-linear functions.

qx)=2x+6 r(x) =x+6




ETs Quick Check — Form A

Readiness Standard 5 - A.CED.2

Name K- Date

(

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

Graph A Graph B Graph D

1) B8 & %

1. The function fix) = x — 3 could be represented by which graph? 1. C_

54 5 5| 5|

D e o'I X 0 >x 0 >r 19
] ; ]
4 a4 4 4
5 5
! . 5 v
. 2 .
2. The function g(x) = 3 + 3 could be represented by which graph? 2. C
Graph A Graph B Graph D
&(x) &) gx) 8(x)
A
VA T o H
7 P Z 8
b
,7._'/ P T /.
e :x:);-,’__‘3 G’c 0 =
7 2 ¥ < >| 2| / )
/ 3 3 3
1 ! i CARRRE
v
3. The function A(x) = -3x + 2 could be represented by which graph? 3. £ "

Graph A Graph B Graph D

h(x) h(x) h(x) h(x)

T ) i

\ 4
*®
A
L'
v
*®
A

A
\ 4

21
EEEE  EEED ‘ SR EEEE A
I }{ | I
] T\
/, ] ]
4

© OAISD, July 2022



@P Quick Check — Form A

H
Readiness Standard 5 - A.CED.2 (Continued)

Name Yuuw Date
J
Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)
4. The function p(x) = (x—3)? could be represented by which graph? 4, B
Graph A Graph C Graph D
p(x) P(x) () p(x)
A 44 STA 5{ f LYW St
\ / : 3 \ / \\ : II ‘
: | |
:_4,,,9 >X 7 pX <= CHAVE Y »>x : : > x
2- 2 2| 2|
3| 3
5
; ! 4 ;

5. The function g(x) =x*—1 could be represented by which graph? 5._(
Graph A Graph B Graph D
N q(%) N q(x) . N qf) a 9(x)
1 T L\ )
\ ’I/ \I / | \
] . i/
r > X . >x = bx < - > x
1

o 3 .2 - 0]
2 2
3| 3 3
: . 4 )

6. The function #(x) = (x + 1)> + 2 could be represented by which graph? 6. B
Graph A Graph C Graph D
t‘x) . t(x‘ t(x) N 1(x)
T At A VS M
\ J \L, |
i : j
:“.\.? »>x < 5 > X = EI >x < - > x

L@

© OAISD, July 2022



s Quick Check — Form B

Readiness Standard 5 - A.CED.2

Name Lo«/(}/ Date

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

1. The function fx) = -x + 4 could be represented by which graph? 1. D
Graph A Graph B Graph C
fx) fx) f®) )
4 4
3| 3 3
2 2] 2]
1 1 1
. ‘ 0 ; X ol X 4 3 > 7 x=4- R > x
1 4 4 1
2 2) 2 2
3| 3 3|
4 4
¥ !
- : - D
2. The function g(x) = 7% + 3 could be represented by which graph? 2.
Graph A Graph B Graph C
g(x) 8k 8 &%)
A el A
% /’ iT r 4L i/’
N4 < .y
% 7, 7 . /'2
< ‘, > X <% o > X Gt > x < : » X
e 0 MNP < KA & ) I i g
4 24 , >| 2 /' 2
/ 3 3 3 3
; i P AR
v
3. The function A(x) = 3x — 2 could be represented by which graph? 3. ,B
Graph A Graph C Graph D
h(x) h(x) h() h(x)
a
H f i
] 1 \ b
e o X - >X 9}\ X | » X

© OAISD, July 2022




@E Quick Check — Form B

Readiness Standard 5 - A.CED.2 (Continued)

Name \CUZV Date

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

4. The function p(x) = (x + 3)? could be represented by which graph? 4, A
Graph B Graph C Graph D
) ) )
A 4?*x ’jfi ;\ psfc) 4 A A 4
; . . | .
\[ [ /
\[ |, [

N\ TN

a
=]

v
~
Y 3
A 4
=
A
4
=
A
A

b & R Lo
N

5 5| 5|
v

5. The function g(x) =x*+ 1 could be represented by which graph?

[1]
-3
4
5
5
Graph A Graph B Graph C @

A q(x)‘ N q(x) . R q{x) . q(x
i i i i
3 3| 3| \ 3| /
\ / / 2 2
, \ \L/
G >x P e >x < 4 - x

t t
¥ 4 ¥

6. The function #(x) = (x — 1)> — 2 could be represented by which graph?

v

6

Graph A Graph B Graph C
t(x)

N v 'Y A 4
- NEL it e ey
\ S \lL. /
;i : : f|
<= _\.? :x:.“,.; :x=4d...§| >x S 7 »x

b G

<«
5
b o bz

© OAISD, july 2022



ELT. Quick Check — Form C

MATH
Readiness Standard 5 - A.CED.2

Name \C.ue/ Date

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

1. The function fix) = x — 4 could be represented by which graph? 1. C
Graph A Graph B .b Graph D
fx) f&) J& fx)
4 4
3 3 3 3
2 2 2| 2]
9 raged 0 T € 0 > 44" " 9 R
1 1 1 1
2 2 2) 2t
3 3 3
L L

2
2. The function g(x) = 3% + 2 could be represented by which graph? 2. ES
Graph A Graph C Graph D
gk &) gkx) g(x)
gu p A 5 f
] ; o 1L/ /
4/ a4~ yd
7" 7 4 f /'f
NEEE LT ”‘13%{-9 > 4 - > X <t > x
X prad . yARP
/ 2 3| 3 -3
) ) y
v ! i (RRRRE’

Graph A Graph B Graph €

hx) h(x) h(x) h(x)

3. The function A(x) = -2x + 3 could be represented by which graph? 3. D

HHH i 4 i

! 1/ s A

A
v
=
A
A 4
o
3
v
=
A

; 4.‘

IEEEEL  EEEEN + A EEEEL
: 5{ §|\ :|

A .

4 $

© OAISD, July 2022




@ Quick Check — Form C

H
Readiness Standard 5 - A.CED.2 (Continued)

Name KU(/}/ Date

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

4. The function p(x) = x — 3 could be represented by which graph? 4. Q :
Graph A Graph D
p(x) J7143 P
A A4 4 ﬁ A f A A4
: Y :
\ /1, / \ /
< = ) »>x <« = » X :4 > £ ) I »x :. > o y » x
) 2
p v !
5. The function g(x) = (x — 1)® could be represented by which graph? 5. &
Graph A Graph C Graph D
A q(X)‘ N {x) . R q‘fx) . q(x)
1 ; M wsEy
Y e = :
<= :x<d___$ —X T »x 4 » x
s 2| 2
3| 3| -3 3|
4 4 4! 4
i 5 { !
6. The function #(x) = (x — 1)>+ 2 could be represented by which graph? 6. Q
Graph A Graph B @ Graph D
R t(x) . 1(x) i3 A 1(x)
4 4
\EENEY AVES Y, il M
\ S \L, /
2
:4_\ OI > X x < SI »r — .\ [ > x
] 1 4
4 A
) s
4 4 -4
¥ 1 !

© OAISD, July 2022




@:1}& Quick Check — Form D

Readiness Standard 5 - A.CED.2

Date

Name \C.uap

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

1. The function fix) = -x + 3 could be represented by which graph?

Graph A Graph C Graph D
fx) f‘(J:) Sf®) f®)
5| 5| 5| 5)

LOY
e

T

e

3
IS
—X=]
v
=
A
b
=]
v
M
A
L.
e

v

.A

By L
)

4 4 4
5 5 5|
v

3
2. The function g(x) = 2% + 2 could be represented by which graph?

Graph B Graph C
&(x) g(x) g(x)
A

=f : o 514
4 4 "

a l, 3| '4
7 i >

:x?:___al

v

.‘L

'mlswu—no

3. The function A(x) = 2x — 3 could be represented by which graph?

Graph B Graph C

h(x) h(x) h(x)
A

h(x)

Graph D

HH : 4

y ' \{\

A
\ 4

K
v
A

A 4

_u

n
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G Quick Check — Form D

ATH
Readiness Standard 5 - A.CED.2 (Continued)

Name K,U/\/ Date

J

Learning Target: | will identify the graph of linear and non-linear functions. (Work time: 5 minutes)

D

4. The function p(x) = x* + 3 could be represented by which graph? 4
Graph A Graph B Graph C
p(x) P px) p(x)
A 44 . 4 R A 4
4 4 4 I 4
. s \l [ /
\ / 4N / \L Ll 2
4 1 + 3
4 7 >x < X ‘:x:""ETI > x
: ]
4 4 4
’ 5) 5|
A 4 A 4
5. The function g(x) = (x + 1)? could be represented by which graph? 5. A
Graph B Graph C Graph D
q(x) q() q(x) q(x)
A " A A A { A
, i i i
3 3| 3| \ 3| l
\ 2 I I 2| 2
\ \L/
s X —p X T = >x (-;l
: 2
| 4 al |
"@1 | | |
6. The function #(x) = (x + 1)> — 2 could be represented by which graph? 6._/ !
Graph B Graph C Graph D
R tx) t(x)‘ t(x) A Hx) R
\ At A \ T /
\ o \L /
2
4 1
BV /i mm .

sl

Riuises
-

i
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